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QUESTION 1

Which code will remove any and all samples in the array that are between 2 and 3, exclusive?
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A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: C
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QUESTION 2
The Current Time indicator should update every second, starting when the user clicks the Start Timing button and

stopping when the user clicks the Stop Timing button. What values must be entered in the Start Timeout and Stop
Timeout constants in the Start Timing and the Stop Timing event structure cases?
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A. Start Timeout = 1, Stop Timeout = -1
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B. Start Timeout = 1, Stop Timeout =0
C. Start Timeout = 1000, Stop Timeout = -1
D. Start Timeout = 1000, Stop Timeout =0

Correct Answer: C

QUESTION 3

What will be displayed in Data Array Out after the VI runs with Data Array In and name input as shown?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 4

This VI is started with a value of 7 in the Repetitions control.
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The SubVI Grind.vi returns an error the fifth time it runs.
What is the value in the Numeric indicator after this VI has run?

While Loop Mumeric

Repetitions [[(132§

Array In| jos: p—

Correct Answer: B

QUESTION 5

Which of the following describes a Tab Control?

A. A control that outputs ASCII values equal to the selected tab label

B. A type of enumerated control

C. A control that outputs a cluster of the controls / indicators on the tabs
D. A controls that outputs the tab order of the controls on the front panel

Correct Answer: B
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